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A rectangle has length x m and its S sbo aana g yia x 4l sh Jibaiv
perimeter is 20 m Whazt is the maximum ikl dalie 50 2a ) 20 M
area of such a rectangle?

1o

a) 20 m?

b) 22.5 m?

c) 24 m?
d) 25 m?

Q2- A three-sided fence is to be built next to a da qilay cilga ENE e Elo sl 3
&N aldall il Al JSES Guan LY
fourth side of a rectangular region. There is Tlaw aladiady el g dbdaicual) dBkaiall
80 feet of fencing available. dalual salinl) dagdll 2050 80 fit 4ok
Find the maximum enclosed area and the el dalaal) dilaial)
dimensions of the corresponding
enclosure.

a) 40ft?

b) 60ft2

c) 400f¢
d) 800ft?
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Q3-

A three-sided fence is to be built next to a

fourth side of a rectangular region. The
enclosed area is equal 1800 ft2.
Find the minimum perimeter

A two-pen corral is to be built. The outline
of the corral forms twe identical adjoining
rectangles. If there is 120 ft of fencing
available, what dimensions of the corral
will maximize the enclosed area?

20 x 30
40 x 20
600
800

N il Cilga GG (e zhaw el ) p
N il el dbin IS Cumy etV
dihial dalice cailS 13) Aldaial dalaiall
25 1800 ft?2 Alsh (5 lud Adlaal)
o) dahidl sl (5 yrall dassl)
ol

-

o ililaia (4 jaa (e A5 5Sa 5 pulas
d}k :L}u: (\g.ﬂ:la\ J\_)..j d...\kl.u /‘_Lia:
OS5 Cun b jlasl) dlay) 2251120 ft
OSar e ST Lgialins
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A showroom for a department store is to be e e b pa e Adla Ceaa 5w
rectangular with walls on three sides, 6 ft = e Ol A e o 5<8 Cuny (il 2 Y!
door openings on the two facing sides and 6ft am b i oy O ke JSG
a 10 ft door opening on the remaining wall. 10 ft (% by el o laal) 8
The showroom is to have 800 ft* of floor o) Al (5S5 Gy GIUN laad) 4
space. . 800ft% 4 &
What dimensions will minimize the length 0/ dsb 058 S Allall sladl 2 )
of wall used? foSa e B

The energy required for a bird to fly at Ao o phay (Sl de PN ALY 6
speed v is propertional to P P o cliiv

Find v that satisfies the largest value of All 5 jall Aadll (333 Al p 2 )

energy

1
P=—+cv?, c>0
v
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Q7- A rectangle with a maximum area for a abana ale (g3l dabia ST 03 Jalaioaall
given perimeter P is always Ladla () 584

a) square &=

b) rectangle where length is twice widthe
c) rectangle where length is 3 times widthe
i ye Jlie) 23 4 gl ks

d) rectangle where widthe a square root of length
A ghal s Al jdad) (g gl dud o Jubilesa

Q8- Find the maximum area of a rectangle dalie S 53 Julatsall dablise 22
having base on the x-axis and upper Dsna e Aty e Gand & el
vertices on the parabola Al Ssie Jeo o) AV glal i sx

y =12 — x?

a) 64

b) 8
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Q9- A circular sector with a perimeter of Jsbh sl 12 em 4base g il gl
12 cm. Find the length of the radius of its OS] dialia Jaad il 5 45 iyl s
circle, which makes its area as large as b2t gl dalie o) Lile (S Lo
possible. Note that the area of the sector is EERPALE
given by

enclose a rectangular space for a garden, . deasil dgall alaal aa ) | JSEN AL
Find the dimensions of the garden to get 132 Lghlal (Sa) AiSas dalise ST e
the largest area that can be enclosed by gl
this fence.
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Q11- A box with no top is to be built by taking e (e 7 s (3 53ia ahia 3
212 by 16 sheetof 16 in Wsh o FS) (e dadl alasiundy
cardboard, cutting x in. squares out of Cilag yo pdady 3912 in Lera e
each corner and folding up the sides. Find  x in st Wie S ghia Jgha 45 gluia
the value of x that maximizes the volume Leai oy a3 L 55 (e Ayl 3 JS 2
of the box. s x e aa ) Bsaiall e J gl

Sz le Lol (3 saiall aaa J2as

Q12- Find the point on the curve y = x? closest e a8 Al ddadil) Sl o )
to the point (0, 1). OsSiAlly y = x2 A (sinie
(0, 1) akdll ) oSy Lo o
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Q13-

Q14-

A soda can is to hold 12 €Cm3. Find the 2l 12 Cm3 eaas bpa dle
dimensions that will minimize the Lo 8l Lendaws dabisa ¢ 5S5 Cuny W alas
amount of material used in its S
construction, assuming that the thickness

of the material

is uniform

v=m r’h, A= 2nrh+ 2nr?

Suppose a wire 2 ft long is to be cut into ) axdad o)y 2ft gl Saea el
two pieces, each ef which will be formed Leia JS (e Lom e piia g (indof
into a square. Find the size of each piece to  Aslus Jaad Al g dakad JS J5h 2a
maximize the total area of the two squares. S La ST Gm all
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Q15- An advertisement consists of a
rectangular printed region plus 1 in.
margins on the sides and 2in. margins at
top and bottom. If the area of the printed
region is to be 92 in?.
find the dimensions of the printed
region and overall advertisement that
minimize the total area.

g Jalines JS5 e 4dle) 5y
1in Coome )l als o (s
o Leliul 5 48 )5 e b hala

de gladll dilaiall dalue culS 13 2 i

92 in? s
Lgtinlise Jrad il 5 48 ) 5l alay) 2 )
oS Le J8) 2K
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Q16 Elvis the dog stands on a shoreline while 5 S oo o Lain (LA e udl) QIS cady 16
a ball is thrown x = 4 meters into the sl i Jlidl z = 8 5 elall 8 Jldx = 4
water and z = 8 meters down shore. Ifhe  4c s =i 56.4 yie/Ailide juy =S 1) (L)
runs 6.4 m/s and swims 0.9 m/s, find Al (y) QS e Canid (0.9 yia/Als
the place (y) at which he should enter the sl Jgeasll o 3D i ol Sl ol ad Jay o) casy
water to minimize the time to reach the 38

ball. Show that you get the same y-value Z > 1Y yiad i e cllias dlil el
forany z > 1. ’

Ball

Q17 Suppose that group tickets to a concert e s Jia ) SN Ae gana e o) i e 170
are priced at $40 per ticket if 20 tickets WS G ) S5 20 alla 3 13) 63 Sl a3 40
are ordered but cost $1 per ticket less daila) 3 S UKD o 2 1 ey T raais S
for each extra ticket ordered, up to a (Jhdl Qo o) | oamdl 22K 5 KM 50 ia A slhae
maximum of 50 tickets. (For example, if ~ (3,53l a8 50 38 yauall S5 KX 22 (il Jls 8
22 tickets are ordered, the price is $38 r ¢ sanal calic dad 3Ead SN SIA axe aa (]
per ticket.) AN
(a) Find the number of tickets that eS850 5o 1 s all Glsa G5 of sy @l 1) (<
maximizes the total Price of the tickets. 4, slhaall Adlaly) HSINN jal) aad aly
(b) If management wanted the solution
to part (a) to be 50, how much should
the price be discounted for extra tickets
ordered?
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Q18 Suppose a paintinghangsonawallasin (& s s LS s o da gl Gilai o)) (2 8 e
the figure. The frame extends from 6 oY) 35 8ft S ft6 e Jshay Y xia JS
feet to 8 feet above the floor. A person G X e paYISFE e sl adi i (add Cily
whose eyes are 5 feet above the ground WA A L) Al ) Dl dailall e e
stands x feet from the wall and views S il 13 (e (e iball pladll (e SIS
the painting, with a viewing angle A Jiul I paddll e e pabaall pladlly Yl e
formed by the ray fiorii the person’s eye DBY) 8 At
to the top of the frame and the ray from 500 Ao sl 3l (5 sl da (335 Al xr dad 2o
the person’s eye to the bottom of the
bottom of the frame.

Find the value of x that maximizes the
viewing angle A

3'—\\\
N

o T—
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